diff evMonO (nm)

Maindet weighted avg, local errors - diff evMonO
Mean =-1.4 +- 3.8 nm Chi2/NDOF=6.3/1 Probability = 0.01
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Maindet weighted mean, self pull - diff evMonO

Maindet weighted mean, self pul

E_ | Entries 2
E Mean -0.000418 + 1.259
i Std Dev 1.781+ 0.8905
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: Overflow 0
E | | RTINS T A T MO O O L

-2 -1.5 -1 -0.5 0 0.5 1 1.5 2

Pull




diff evMonO (nm)

[EEY
o1

[EEY
o

&)

-10

-15

Self weighted diff evMonO
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Self weighted pull - diff evMon0

Self weighted pull

E_ Entries 2
E Mean 0.007577 + 1.259
i Std Dev 1.781 + 0.8905
g_ Underflow 0
: Overflow 0
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Maindet weighted diff evMonO

- X2 / ndf 6.344 /1
- p0 ~-1.352 + 3.804
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Maindet weighted pull - diff evMonO

Maindet weighted pull

é_ Entries 2
E Mean  0.00358 + 1.259
i Std Dev 1.781 + 0.8905
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diff evMonO (nm)
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Equally weighted diff evMonO
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Equally weighted pull - diff evMonO

Equally weighted pull

E_ Entries 2
E Mean 3.399e-08 + 1.259
i Std Dev 1.781+ 0.8905
g_ Underflow 0
: Overflow 0
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